Otyer: lNeparory no npeamety

MywaHoBckun EBreHnn OmutpueBund, 2022/2023 y4yebHbin roa, UHd. n UKT
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Knacc Mepuog Obyvatouxcsa H/ Het g:ﬁﬁHm ://cc);neB. K/;q. 8((;'#””
Otn | Xop | Yo | Heyn A OCB |34 |H3 OLIEHIM 3H. (%)
1-i TpumecTp | 14 1 |7 |8 |0 olo |o |o o 3,64 100,0 |57,14 | 54,570
A 2-it Tpumectp | 14 1 |3 |10]0 olo |o |o o 3,36 100,0 | 28,57 | 46,570
(1 rpynna) 3-it TpumecTp | 15 1 |10 |4 |o olo |o |o |0 3,8 100,0 | 73,33 | 58,930
roa 15 1 |7 |7 o olo |o |o o 3,6 100,0 |53,33 | 53,330
1-n TpumecTp | 14 3 7 4 |0 0 (0 0 |0 |0 3,93 100,0 | 71,43 (63,710
7.6 2-n TpumecTp | 15 2 6 7 |0 0 (0 0 |0 |O 3,67 100,0 | 53,33 | 55,730
(Tpynna 1) | 3. tpumectp | 14 4 |10 |0 |o olo |o |o o 4,29 100,0 |100,0 | 74,290
Fon 14 3 |9 |2 o olo |o |o o 4,07 100,0 | 85,71 (67,710
1-i TpumecTp | 15 1 |9 |50 olo |o |o o 3,73 100,0 | 66,67 | 57,070
. 2-it Tpumectp | 15 3 |9 |3 |0 olo |o |o o 4,0 100,0 |80,0 |65,600
(fpynna 2) | 3 5 rpumectp | 14 2 |8 |4 o olo |o |o |0 3,86 100,0 | 71,43 | 61,140
roa 14 1 |9 |4 |o olo |o |o |o 3,79 100,0 | 71,43 | 58,570
1-n TpumecTp | 14 2 6 5 |0 110 0 |0 |0 3,5 92,86 |57,14 | 55,070
7.B 2-i TpumecTp | 14 2 4 8 |0 010 0 (0 (O 3,57 100,0 | 42,86 | 53,140
(MKT 1) 3-it TpumecTp | 13 3 |3 |6 |1 olo |o |o o 3,62 92,31 | 46,15 | 55,690
ron 13 2 |4 |7 o olo |o |o o 3,62 100,0 | 46,15 | 54,460
1-i TpumecTp | 14 2 |7 |4 o 110 lo |o |o 3,57 92,86 | 64,29 | 57,070
or 2-it Tpumectp | 14 o |7 |6 |1 olo |o |o o 3,43 92,86 | 50,0 |48,570
(MpowwyTMHEK) | 3 4 tpumectp | 14 2 |5 |6 |1 olo |o |o |0 3,57 92,86 | 50,0 |53,710
Fon 14 0 |8 |5 |1 olo |o |o o 3,5 92,86 | 57,14 | 50,570
1-n TpumecTp | 13 1 4 8 |0 0 (0 0 |0 |0 3,46 100,0 | 38,46 | 49,540
8-A 2-n TpumecTp | 14 1 4 9 [0 0 (0 0 |0 |O 3,43 100,0 | 35,71 | 48,570
(BTopas) 3-i1 Tpumectp | 14 o |7 |7 |o olo |o |o o 3,5 100,0 |50,0 |50,000
Fon 14 1 |5 |8 |0 olo |o |o o 3,5 100,0 | 42,86 | 50,570
1-i TpumecTp | 16 o |2 [13]0 110 lo |o |o 2,94 93,75 | 12,5 | 37,690
BA 2-it Tpumectp | 16 0o |4 [12]0 olo |o |o o 3,25 100,0 | 25,0 |43,000
(Mepsas) 3-it TpumecTp | 16 1 |2 |13]o0 olo |o |o |0 3,25 100,0 | 18,75 | 43,500
ron 16 0 |3 |13]0 olo |o |o |o 3,19 100,0 | 18,75 | 41,250
1-i TpumecTp | 14 0o |5 |9 |0 olo |o |o o 3,36 100,0 | 35,71 | 46,000
8-5 2-ii TpumecTp | 14 0 5 9 |0 0|0 0 (0 (O 3,36 100,0 | 35,71 | 46,000
(Tpynna 1) | 3. tpumectp | 14 0o |6 |8 |0 olo |o |o o 3,43 100,0 | 42,86 | 48,000
ron 14 0o |5 |9 |0 olo |o |o o 3,36 100,0 | 35,71 | 46,000
1-i TpumecTp | 16 0o |4 [12]0 olo |o |o o 3,25 100,0 | 25,0 |43,000
8.5 2-it Tpumectp | 15 0o |4 |11]o0 olo |o |o o 3,27 100,0 | 26,67 | 43,470
(fpynna 2) | 3.5 rpumectp | 15 o |8 |7 |o olo |o |o |0 3,53 100,0 |53,33 | 50,930
ron 15 0 |5 |10]0 olo |o |o o 3,33 100,0 | 33,33 | 45,330
8-B 1-n TpumecTp | 15 1 4 8 |0 210 0 |0 |0 3,0 86,67 |33,33|43,870




2-11 TpuMecTp | 16 o |6 [9lo [1]o |o |o |o 3,19 93,75 | 37,5 |44,690
3- TpumecTp | 16 2 7 7 |0 0 (0 0 |0 |O 3,69 100,0 | 56,25 | 56,250
Fon 16 1 |6 |9 ]o Jolo |o |o o 35 100,0 | 43,75 | 50,500
1-i Tpumectp | 15 1 |6 [7 1o [1lo |o |o |o 3,33 93,33 | 46,67 | 49,530
8.8 2-1 TpumecTp | 14 2 |4 |8 lo |olo o |o |o 3,57 100,0 | 42,86 | 53,140
(n 3t TpumecTp | 15 o |7 |s]o Jolo |o |o |o 3,47 100,0 | 46,67 | 49,070
ron 15 1 |6 [8]o |olo |o |o o 3,53 100,0 | 46,67 | 51,470
1-i TpumecTp | 16 1 |5 [8]o |2]0 |o |o |o 3,06 87,5 |37,5 |45130
or 2-11 TpumecTp | 15 o |6 (9 |o |olo |o |o |o 34 100,0 | 40,0 | 47,200
(A1) 3-1i Tpumectp | 15 o |8 |7 ]o Jolo |o |o |o 3,53 100,0 | 53,33 | 50,930
Fon 15 o |7 |slo |olo o |o |o 3,47 100,0 | 46,67 | 49,070
1-i Tpumectp | 15 o |4 |11lo |olo o |o |o 3,27 100,0 | 26,67 | 43,470
ar 2-1 TpumecTp | 16 o |5 |11lo |olo |o |o |o 3,31 100,0 | 31,25 | 44,750
(A2) 3 TpumecTp | 16 0o |5 |9 |1 110 |o |o |o 3,06 87,5 |31,25 41,690
Fon 16 o |5 |11lo |olo |o |o |o 3,31 100,0 | 31,25 | 44,750
1-n TpumecTp | 17 2 4 1110 0|0 0O |0 |0 3,47 100,0 | 35,29 | 50,120
9.A 2-11 TpumecTp | 17 2 |7 |slo |olo |o |o |o 3,65 100,0 | 52,94 | 55,060
(1rpynna) | 3.5 rpumectp | 17 2 |7 |slo Jolo |o |o |o 3,65 100,0 | 52,94 | 55,060
Fon 17 2 |6 |9 lo |olo |o|o |o 3,59 100,0 | 47,06 | 53,410
1-/ TpumecTp | 16 o |2 |14lo |olo |o |o |o 3,13 100,0 | 12,5 |39,500
9-A 2-1 TpumecTp | 15 o |3 |12lo0 |olo |o |o |o 3.2 100,0 20,0 |41,600
(2rpynna) | 3 s roumectp | 15 o |9 |e6]o Jolo |o |o |o 36 100,0 |60,0 |52,800
ron 15 o |3 [12l0 |o|o |o |o |o 3.2 100,0 | 20,0 | 41,600
1-i TpumecTp | 17 o |5 |11lo |1]0 o |o |o 3,12 94,12 | 29,41 | 42,530
9-b 2-i1 TpumecTp | 17 0 3 1410 010 0 |0 |0 3,18 100,0 | 17,65 | 40,940
(MHpopmaTt
2) 3-v TpumecTp | 17 0 5 120 0 (0 0 |0 |0 3,29 100,0 | 29,41 | 44,240
Fon 17 o |4 |13lo |olo |o |o |o 3,24 100,0 | 23,53 | 42,590
1-i TpumecTp | 16 2 |8 |e o |olo |o |o |o 3,75 100,0 |62,5 |58,000
9. 2-1 TpumecTp | 15 1 |9 [51]0 Jolo |o |o o 3,73 100,0 | 66,67 | 57,070
(MHdpopmatt) | 3 i 1oumectp | 15 1 |9 |5 o |o|o |o |o o 3,73 100,0 | 66,67 | 57,070
ron 15 2 |8 |5|o |olo |o |o |o 38 100,0 | 66,67 | 59,470
1-it TpumecTp | 15 1 |3 [11]o |olo |o |o |o 3,33 100,0 | 26,67 | 45,870
0B 2-11 TpumecTp | 15 o |4 |11lo |olo o |o |o 3,27 100,0 | 26,67 | 43,470
(@Hrn. 1) 1 3 5 rpumectp | 15 1 |4 |10lo |o|o |o |o |o 3.4 100,0 | 33,33 | 47,730
Fon 15 o |4 |11lo |olo |o |o |o 3,27 100,0 | 26,67 | 43,470
1-i TpumecTp | 13 o |2 |11lo |olo o |o |o 3,15 100,0 | 15,38 | 40,310
9B 2-1 TpumecTp | 13 o |o |13lo |olo |o |o |o 3,0 100,0 |- 36,000
(@nrn.2rp) 3-i TpumecTp | 13 o |1 |10]2 Jolo |o |o |o 2,92 84,62 |7,69 |35,080
ron 13 o |1 |12lo0 |olo |o |o |o 3,08 100,0 |7,69 |38,150
1-7 cemectp | 11 o |6 [5)o |olo |o|o |o 3,55 100,0 | 54,55 | 51,270
gf}ﬁynna) 2-11 cemectp | 11 1 |6 (4]0 |olo |o |o |o 3,73 100,0 | 63,64 | 57,090
Fon 1 1 |7 (3]0 |olo |o |o |o 3,82 100,0 | 72,73 | 59,640
10-A 1-it cemectp | 10 1 |5 4]0 Jolo |o |o o 37 100,0 |60,0 |56,400
@reyna) o cemectp |10 3 |1 |6 |0 |olo |o |o |o 37 100,0 |40,0 |58,000




lop 10 3 3 4 10 010 0 |0 |O 3,9 100,0 | 60,0 |63,600
1-n cemecTp |18 3 6 9 |0 0 (o0 0 [0 (O 3,67 100,0 | 50,0 |56,000
JAESTPOH;'H) 2-n cemectp | 18 3 10 |5 |0 010 0 |0 |0 3,89 100,0 | 72,22 | 62,220
Jo)i} 18 3 10 |5 |0 010 0 |0 (O 3,89 100,0 | 72,22 | 62,220
1- cemectp | 17 0 7 10|0 010 0 |0 |O 3.41 100,0 | 41,18 [ 47,530
gééﬁnaHOBa) 2-n cemectp | 17 1 13 |3 |0 010 0 |0 |O 3,88 100,0 | 82,35 (61,180
lon 17 0 14 |3 |0 010 0 |0 (O 3,82 100,0 |82,35 | 59,060
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